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1. Sketch the graphs you saw in each Trial.
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3. Why does the plot of Trial 1 go up as it moves from left to right? (Be sure to use the words
“time” and “distance” _: your explanation.)
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4, Why does the plot of 45_ 2 appear to be moving downward? (Be sure to use the words
“tima" and “distance” in <oc_.
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é:w is Em plotin Trial 3 in fist line? (Be sure to uss the words ‘time” and “distance” in your
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6. If you combined the three trials into one trial by first Em_x_:@
away, then standing still and finally walking toward the CER,
sketch what the resulting plot would look like. \p
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2. in all three trals,
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7. Sketch whzt the graph showed:
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8. Each plot in the two trials contains a section that is level or flat in appearance. What was the
walker doing ai that time?
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9. In Trial 4, the walker cmom: moving at a constant rate. What did you notice about the plot
during this.time?
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10. Summarize the effects that gpeeding up, slowing down,
<<m_x_ away from the CBR have on the shape of a Distance-Time plot of the motion,
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11. What would Trials 4 and 5 have looked like if the motion had beer tcward rather than away
from the CBR? Sketch your predictions below.
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Now try these two problems:
A) Draw a graph that represents the following
situation: Stacy walks at a constant rate
from home to the bus stop. With a quarter 'y
of the distance left, she sees the bus coming, = - 00 0 I L S I
so she runs at a constant rate to catch it. She - i
gets fo the bus stop, but misses the bus. After W o a1 T i

a short rest, Stacy tumns aroun 7 .Trﬂ..lm.ﬁ i _
anw home at a constant rate. {Label Axes J& .,
_

B) Write a situation that would generate

the graph shown below.
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